EAGRAROBREERT — 2 N— ABISH —F 202058270 (k) 2M@E#EFI3H

Q> %—f C3AEA+L (w8 | mEmml - |5 5 o 8
[A&4£] 17 :800,000 3 ~ 23#%&:280,000H ~ 33#&:160,000 @ . 4 7#&:120,000 @ . 5 j&:84,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1 o | B/ UKR=2 o7 f;%%otz’g 1:(31).4 3354 |40.7| — 4 | 493 gﬁﬁ% (i)
LRI HANAN BiA LTS T —F 00 HE s
olslg|TItot—1 H 7 %ﬁkﬁk (11:311/.27) 6-4-4-3 |41.0| — 3 | 415 %;;ﬁ (Aat)
QYLK YIURIR B Y- XTLAR 19| =g
317l10| 2F LT # 7| R 1(731&7 1-2-2-1 |[41.5| — | 8 | 529 gg’;g (i#n)
RFHYTTIRE BiFr—38T 49) | pagy
slglii|v1=>9UN=-7 f 6 | ZAE= (11:312/.2% 4535 [41.4| — | 6 | 443 EEEI (1 1igs)
L RNA R BEEEY S ™) |gx gz
5 3 FY 4 FF—L 4 5 ;Fga(a)s%&‘a (1739270) 9-9-10-10 | 40.4 | — 7 452 ﬁ%ig (Gr%n)
QB IELLY b BSHUSLT 00 55235 pskatt
6lglip| 7z 7V —2%y 7 o4 slﬁ“_ﬂgk 1(7325; 10-10-8-8 | 40.5| — | 11 | 447 Egg@ (e
RixLL ¥ RuE BNTLTLRTAN 0| 20 R 1 s
Yd ¢ FAEXASZ AN 'O | FERAE 1(:33/%2 7-6-66 |(41.0 — | 2 | 464 iﬁég (#70)
LULRUSYRIR BFATLYALY ) @ mx
8 4| UF1T i 9 ﬁsﬁé’c’g (11:312/.25) 12-11-12-9 | 40.4 | — 10 | 477 /Qjﬁgﬁzg ()
. B\
L2914 T ALY N BFATEL—-FT1— (+5) HEE f5—
9l7|9| %X # 7 | BHE a2t 8877 |41.5| — | 5 | 437 ggz Ké(;‘ﬁ*u)
R:FA—TAAA BTANT—H #9) | s igis
w11 |T7171=—T7==lb A L (12313/23) 2-1-12 (431 — | 1 | 511 *ﬁﬁ;‘%ﬁé;@%g
LH R HHE—Y BiZ—Z v THILF Gl NIERNTT— L
11 8 ©5T 4 —F 4 8 ggﬁ%ﬂﬁé (11313/26) 11-12-11-11 41.7 | — 12 <4+320) ggg; (i#Fn)
L:¥r/0704 B:7O0-73%v b ESazie]
1l55|*avTrE—a> H o4 Zéfgﬁﬁi (;i(i_;i) 5-7-9-12 | 45.0 | — 9 463 /Ellifﬂt:i (@70
Qb Ta—Fr BiEavIfHENY ) | gxzr—n
@ 1—F—@&BIEf
1S=9r= 10,1,2,11,5,6,7,9,3,12,8,4
20—F— 1,10,2,6,11,7,5,9,3,12,4,8
Gal=7r= 1,10,11,6,2,7,9,12,5,3,8,4
43—F— 10,1,6,2,11,7,9,12,4,3,8,5
[ RN
B OB 2 660M 794K 2-6 570M e & 2-5 1,420/ JEE 2-6-10 5,120/
7 B 2 190 2-10 1,510 | | # B 2-5 3,130 | | 3:EE 2-6-10 25,020
6 220 6-10 1,140 B E 2-6 1,370M
10 620/ B HE 2-6 2,630M

ARICOVWTRDTEEERROODE. TR LI,




